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FOREWORD

This report on the performance of the candidates in the Form Four National
Examination (CSEE) for 2022 in the Chinese Language subject has been prepared
by the Nation Examinations Council in order to provide feedback to school quality
assurers, educational administrators, school managers, teachers, students and other
educational stakeholders on the students’ abilities and challenges in attempting the
examination questions.

The analysis has been carried out in order to indicate the candidates’ strengths and
weaknesses in answering the examination questions. It further shows well-
performed, averagely and weakly performed questions. The good performance was
due to the candidates’ ability to answer the questions according to the requirements
as well as their competence in the Chinese Language. However, those who had
weak performance failed to comprehend the requirement of the questions and
lacked knowledge of the Chinese grammatical rules and vocabulary.

It is expected that the analysis done will help Chinese teachers and all educational
stakeholders to improve the teaching and learning strategies of Chinese Language
and therefore improve the candidates’ performance in this subject.

Finally, the Council would like to acknowledge the examiners and all those who
have in one way or another contributed to the preparation of this report.

e

Dr. Said A. Mohamed
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report analyses the performance of the students who sat for the
Certificate of Secondary Education Examination (CSEE) in the Chinese
Language subject in 2022. The examination was set according to the 2015
Chinese Language syllabus.

The examination of Chinese Language subject comprised 13 compulsory
questions. The questions were divided into five sections: A Comprehension,
B Patterns and Vocabulary, C Grammar patterns, D Language Use and E
Composition. Section A had 2 questions; question 1 and question 2 where
each carried 10 marks, thereby making a total of 20 marks. Section B
comprised 3 questions; questions 3, 4 and 5. Question 3 and 4 carried 5
marks each and question 5 carried 10 marks, thus making a total of 20 marks.
Section C had 3 questions: questions 6 and 7 which carried 5 marks each and
question 8 carried 10 marks, making a total of 20 marks. Section D had 3
questions: questions 9 and 10 where each weighed 5 marks and question 11
carried 10 marks, making a total of 20 marks. Section E consisted of 2
questions: question 12 and 13 where each question carried 10 marks, thus
making a total of 20 marks.

This analysis indicates the candidates’ performance in each item by showing
their weaknesses and strengths in answering the questions. Sample extracts
from the scripts of the candidates’ responses have been presented so as to
provide a general overview of how the candidates responded to questions in
accordance to the requirement of each question.

The candidates’ performance has been grouped in three categories: The
performance from 65 to 100 percent is categorized as good, from 30 to 64
percent as average and from 0 to 29 percent as weak. Three different colours
have been used to represent the candidates’ performance: green shows a good
performance; yellow indicates an average performance while red indicates a
weak performance. The candidates’ performance in each topic is summarized
in the Appendices | and I1.

A total of 324 candidates were registered for the Form Four National
Examination in 2022, whereby 309 candidates sat for the examination. The
analysis shows that, the general performance in this year was good because
296 (95.8%) candidates passed the examination and only 13 (4.2%)
candidates failed.



2.0

Table 1: Candidates’ Pass Grades in CSEE 2021 and 2022

Grades
Year Sat
A B C D F
2021 473 75 50 147 148 53
2022 309 51 64 118 63 13

Table 1 shows the performance of the candidates in 2022 and 2021. The
performance of the candidates who scored grade B increased from 50 in 2021
to 64 candidates in 2022. In grades D and F, the candidates’ performance
decreased from 148 to 63 candidates and from 53 to 13 candidates,
respectively.

ANALYSIS OF THE CANDIDATES’
QUESTION

RESPONSE IN EACH

2.1 SECTION A: COMPREHENSION

This section comprised two questions: questions 1 and 2 in which the
candidates were required to read the passage and answer the questions
given. Each question carried 10 marks, thus making a total of 20
marks.

2.1.1 Question 1: Multiple Choice Items

In this question, the candidates were required to read the
passage and answer the questions by using Chinese characters.
The passage was about Ana and her sisters’ plan to go to China
during holiday. The question was derived from the topic of
Travel and Custom. It tested the candidate’s ability to give
information about a trip. The question was as follows:



—  WHAL, 9ERE. REEL ARFAZ,

Wi jido Andn,  jin nidn shi jiti sui, shi Tdnsdng niyd rén. W0 de péngyou Lill shi

AW %E, AF TAS, R & REZA. &% B A AR
Zhongguo rén, 1A jid zai Shinghdi. WO méi q gud Shanghdi,  dan shi qugud  Beijing hé
P OEA, REE L B, K % 2 L&, 2 REd kTR
Guingzhdu. Guéngzhou bu tai da, Béijing di de bii dé Lido, Gydngzhou xid tidn bi Béijing
oM. 7 HFRRK, AFARR /AT, oM EX kAR
e dé dud.  Jia qi dao le, wé yao gén jigjie yigl qu Zhonggud, céng Tinsang ni ya dao

BEL. BA BT, A& Rak-£% 7 H, KB ZELE

F £kMETEAN M. AN £ ARTHFE-ANEH, A
¢in guin Glgdng, hdi xifing qb Chdngehéng. Women hai yao cong Béijing dio Shanghii qi,
A2 KT, Z8 £ K H. A fE% KA RTHLEL

wi gél Lili f1 le didn 2f y6u jidn, women 2ii jT ching jinmidn.  da jid dou hén gdo xing.

£% WM R TEF o4, &N A B L &, XEHR R B X

Liri: Andn jin nidn SUis
o &% A5 A Y.
Lili jid zai Zhonggud de
1. WHEAE TH & .
Guingzhdu xid tidn bi Béijing dé dud.
2.7 M ERREAX %%,
Andn hé jigjie cong Tinsang ni ya dio B&ijing zud f8i ji yio ge xidio shi.
3. FgAedgda BE AT AT 4L TE A,
Jigjie xifing qi can guan hdi xidng qi Chdngchéng.
4 e 8 A9 T8 £ KM
Tiagidaole, Andnhé jigjie vio qil Zhonggud de gé chéngshi,
5. BMET, £%Amass +HEN BT

The question was attempted by 309 (100%) candidates, out of
whom 206 (66.7%) scored from 7 to 10 marks, which is a good
performance, 93 (30.1%) candidates performed averagely by
scoring from 3 to 6 marks and 10 (3.2%) candidates scored
from O to 2 which is a weak performance. The general
performance in this question was good since 299 (96.8%)
candidates scored 30% or above. Figure 1 summarizes the
candidates’ performance in question 1.
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Figure 1: The Percentages of the Candidates’ Performance in
Question 1

The data analysis indicates that, 206 (66.7%) candidates who
had a good performance scored from 7 to 10 marks. These
candidates wrote Chinese characters correctly because they
comprehended the passage and managed to answer correctly in
all items. Extract 1.1 is a sample of the candidate’s correct
responses to question 1.

| ﬂqanﬂ "1§_}
Ve
2 re
%‘l\
3 Shi'ay
1t 1
y | Gugong
o5 g
5 Ulﬁ\nq
7R

Extract 1.1: A sample of the candidate’s correct responses
to question 1.

4




In Extract 1.1, the candidate responded correctly in all items.

Furthermore, the data analysis indicates that 93 (30.1%)
candidates had an average performance as they scored from 3
to 6 marks. These candidates had partial knowledge of reading
for comprehension. Thus, they wrote correct answers in some
items and failed in others. Most of the candidates failed in item
1 and 5. In item 1, the candidates were required to write a name

of Lili’s city which was £ (Shanghai) but some candidates

wrote an incomplete character . Some of them dropped some
strokes while others wrote incorrect answers as one of them
wrote s (City).

In item 5, the candidates were required to write the numbers of
cities where Ana and her elder sister were planning to visit.

The correct answer was # (two/miwili) but most of the
candidates wrote — (two/mbili) which was wrong because —

cannot be used with a measure word 4. Extract 1.2 is a sample
from a candidate who performed averagely in question 1.

—- 28 T .

2. 2k

40654 F -

-
5=
L

Extract 1.2: A sample of responses from a candidate with average
performance in question 1.

In Extract 1.2, the candidate wrote correct answers in items 2, 3
and 4 but failed in items 1 and 5.

Moreover, the data analysis reveals that 10 (3.2%) candidates

had weak performance as they scored from 0 to 2 marks. These

candidates did not understand the passage and the requirement
5



of the questions hence ended up writing answer by guessing.
Some candidates copied Chinese characters form the question
paper and others wrote incorrect characters. For example, in
item 1, the candidates were required to mention the name of
Lili’s home place. They scored 0 because they failed to notice

that the statement #h 27 _£i& (her home is in Shanghai) in the
passage was talking about Lili’s home place. They failed to
identify that #th (she) was referring to Lili. One candidate wrote

7£ L (it is up) which was an incorrect answer.

In item 2, the candidates were required to compare the weather
of Guangzhou and Beijing. The candidates who scored O had
insufficient knowledge of Chinese vocabulary and sentence

structure. They also did not master a comparative sentence tt
=4 of (A Lt B Adj). This reveals that they were not aware that

an adjective # (Chot) was talking about weather between
Guangzhou and Beijing. Some of the candidates were not
conversant with the radical -~ hence failed to write the correct
answer.

In item 3, the candidates were required to mention how many
hours does it take on flight from Tanzania to Beijing. They

failed to identify the mentioned hours which was ++t (17

hours). One student wrote FIFIEFE A (Lili is a Chinese)

which was not correct. This proves that the candidate did not
understand the statement given.

In item 4, the question required the candidates to mention a
place where Ana’s elder sister wants to visit while in Beijing.
The candidates failed to find the answer from the passage

because they were not aware that #t= (Palace) and 3% (Great

Wall) are places in Beijing where Anna’s elder sister planned
to visit.

In item 5, the candidates were required to identify numbers of
the cities that Ana and her elder sister were planning to visit.

6
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Those who scored 0 did not understand the passage as well as
the meaning of the question. Some of the candidates in this

category wrote an incorrect answer § £+ . (19 years old this
year). These candidates could not distinguish between Ana’s
age and the hours required to fry from Tanzania to Beijing.
Extract 1.3, is a sample of the candidate’s incorrect responses
to question 1.

—

2.3 ehd  2h5 N§gue ver

1 Al & A

Extract 1.3: A sample of the candidate’s incorrect responses to
question 1.

In Extract 1.3, the candidate filled incorrect answers in all
items.

Question 2: Reading the passage and Answering Questions
Using Chinese Characters

The question instructed the candidates to read the passage and
answer the questions given by using Chinese characters. The
passage was about Xiaoming’s city environment. The question
was set from the topic of City and Environment. This question
tested the candidate’s ability to describe the city and its
environment. The question was as follow:



gL, RRFOEFH,

Xidioming jid zai Shanghdi de jidoqu, 1i shizhongxin hén yudn, Xiloming méi tidn zud gonggong

PR E L K, & Fee R E. N FRE AL
qiché qi xuéxido shangke. Xidoming de biba méi tidn zioshang  liti didn gichuang kai ché qu shi
AE £ FR LR, J\Hf] HEE FX FEL SRR ERR F £ £ T

zhdngxin gongzuo. Jidoql méi you wii ran Chunuan jidoqi hén pidoliang, you hong sé de hua hé 1i s&

PO I, R R A TR, AR, MERER, A L& HEREL
de cio, héai you hén dud i sé de shumi. Xiatian, jidoqd hén ré, changchang xid da yi.  Qiutian
R, TH Rk FHREGHK, LX, RERHK, FF TAd. KX
chéngchéng you xido yii, kdnggi hdo jile, bl lEng yé buré, hén shiifu. Dangtian de shihou, jizoqi
FE A A, RAGRT, FAELTHR, REFR. AKX 8K, R
hui xia xu¢, tiangi y& hén léng. Qitian shi Xidoming zui xihuan de  jijié, 'wb yé xihuan qiitian.
& FE,RULRA, KE A D R ERNET, RLER KX,
Liri: Wen: Xilomingjid zai nar?
Blde: @: PH R £ RL?

Di

% ALBHEE

Shui zai shi zhongxin gongzud?

1.9 & TPs IT4E?

Xidoming de baba ji didn gichuang?

2.0 MEEILERRK?

Jidoqi shénme shihou hui xia xué?

3. MR ft4a Mk 2 TE?

Qiiitian tianqi zénme yang?

4. KR XA Eaf?

Shanghdi you ji g& jijié?
5. LigH IAFH?

A total of 309 (100%) candidates attempted the question, out of
whom 94 (30.4%) candidates scored from 6.5 to 10.0 marks,
which is a good performance, 111 (35.9%) candidates scored
from 3 to 6 marks which represents an average performance
and 104 (33.7%) candidates scored 0 to 2.5 marks, which is a
weak performance. The general performance of the candidates

8



in this question was good, since 205 (66.3%) candidates scored
30% or above. Figure 2 summarizes the candidates’
performance in question 2.

Scores
mO-25

3.0-60
m5.5-100

359%

Figure 2: The Percentages of the candidates’ Performance in
Question 2

The data analysis shows that 94 (30.4%) candidates who had
good performance scored from 8 to 10 marks. These candidates
understood the passage. They managed to identify the
information needed to respond to the question. Hence, they
wrote correct Chinese character. For example, in item 1, the
candidates who scored full mark understood the interrogative

word # (who) which refers to a person. They identified a
person who works at city centre. Thus the correct answer was
/INBBRYEE B (Xiaoming s Father).

In item 2, the candidates who scored full mark mastered well
the way of telling and asking time in Chinese. They identified

the keyword JL& (what time) an interrogative of time. These
candidates identified the correct answer & _E7<m because they
understood the passage and knew the uses of an interrogative
word JL& (what time).

In item 3, the question required the candidates to tell time
whereby the keyword in this item was {+4% BJ{& (when). The

9



candidates had to find a period when the snow would fall.
They responded well because they understood the meaning of
the sentence as well as the requirement of the questions, as they

wrote the correct answer &K (winter).

In item 4, the candidates were asked to tell the condition of
weather during the autumn season. The candidates who scored

full mark in this item identified the interrogative pronoun /&%
# (how about). They also understood the meaning of the
sentence as they managed to write the correct answer &< 4th A

#» , B € AR (it is neither cold nor hot, it is cool and
comfortable).

In item 5, the candidates were required to state the season of
Shanghai. These candidates noticed the interrogative particle J1

that is used to ask about numbers. They were required to
identify all seasons in Shanghai. The seasons were named in
the passage, the candidates had to identify and count them.

These candidates managed to write the correct answer P44

(four). Extract 2.1 is a sample of the candidate’s correct
responses to question 2.

o

202 Xido myng de boha b Hén adg shang 1
2 d, 85 MNEEH A BL
qf chudgna.

"EE JE

f"

didn
4,

~

~

% Donahdn do chibeu, (@G0 ad hul xiG. sud.

3. X F M B3R XFE & F .

& O hgn  hasnd , b e o b rb.

Vﬂ ¥
TR YRR

5 Shing hér _udu g gk E}'Wi; thily B, X3 hdn,
£ 5 B ®m Iy FE OB K, & E,
G Mgn hi déing Han,

Ay E %o X~ R,

Tl

Extract 2.1: A sample of the candidate’s correct responses to
guestion 2.

10



Extract 2.1, reveals that the candidate answered the questions
correctly by using appropriate Chinese characters.

Moreover, the data analysis indicates that 111 (35.9%)
candidates performed averagely as they scored from 3 to 6
marks. These candidates scored full marks in some items and
failed in others. They had partial knowledge pertaining to
comprehending the passage. Most of the candidates failed in

items 4 and 5. For example, in item 4, they were asked FAXX

SE4H (How is the weather condition in autumn?). These
candidates scored O because they did not understand the
interrogative pronoun ‘& 4 # (how about) as few ot the

candidates wrote X< (weather) and #X (autumn) which were
both incorrect answers.

In item 5, the candidates were asked LEi@HJ/L4Z=T (How

many seasons are there in Shanghai). The candidates scored 0
in this item because the number was not written in the passage
but the seasons were named. They wrote the name of places
while others left the question unanswered. Extract 2.2 is sample
of responses from a candidate with an average performance in
question 2.

214 x’zc‘{ﬂmi's}g “de_bdba ¢hi Zhogg XI_ gl aubd,
B BY B RN T AE

D; chiamm de_kiba !’!U ditwn a;(hud?xa
b IHT 88 BE < 4 AP R

3}% A AT IR RPR S TR R0 4
YA X A5, €40 28,

g} —'—‘-/-5 75 :E.

of

Extract 2.2: A sample of responses from a candidate with an
average performance.

11



Extract 2.2, shows that the candidate wrote correct answers in
items 1, 2 and 3 but failed in items 4 and 5.

Further data analysis indicates that 104 (33.7%) candidates had
weak performance as they scored from O to 2.5 marks. These
candidates did not understand the passage. For instance, some
candidates failed to write Chinese characters while few of them
copied words from the question paper and treated them as
answers. In item 1 for example, the candidates who scored O

did not realize that the required interrogative pronoun i (who)

for naming a person was Xiaoming’s father. They also failed to
relate the interrogative word with the information given in the
passage.

In item 2, the candidates were required to tell the time at which
Xiaoming’s father wakes up. They did not know how to tell

time in Chinese. They failed to identify the keyword JLs= (at
what time) which is commonly used in asking time. Some
candidates wrote & X (everyday) which was wrong.

In item 3, the candidates were required to tell it when would be
snowing in suburb areas. Some candidates wrote X< (weather)

and others wrote %& X (winter). These candidates did not

comprehend the passage. Additionally, in item 4, the candidates
were asked to tell what was the weather like during the autumn
season. As per the data analysis, the candidates failed to

identify the interrogative pronoun &4 # C(how about) that
made them to write such incorrect answers as X XS E S
(It” svery cold in autumn).

In item 5, the candidates who scored 0 did not know the
meaning of &5 (season) and the keyword JL (how many)

contained in the question. They also did not know that they
were required to write names of the seasons and not numbers in

the passage as one of them wrote —4~Z5 (one season) instead

of the correct answer which was 4~ ZT5 (four seasons).

12



2.2

Extract 2.3 is a sample of responses from a candidate who
performed weakly in question 2.

ﬁja[P;‘ /E

=)
IS

/T
=
I
R

=3
o M
S| A

,
<
>
Z
I[N

/é/\‘\ i

=H]

Extract 2.3: A sample of incorrect responses from a candidate
with weak performance to question 1.

Extract 2.3, illustrates the incorrect responses from the candidate who
performed weakly in this question.

SECTION B: PATTERNS AND VOCABULARY

In this section, the candidates were given 3 questions: questions 3, 4
and 5 all of which were to be answered. Questions 3 and 4 carried 5
marks and question 5 carried 10 marks, each making a total of 20
marks.

2.2.1 Question 3: Filling in the Brackets with Chinese Pinyin
from the Provided Characters

In this question, the candidates were given 5 items comprising
2 characters each were one character of each word had a
missing pinyin. Thus, the candidates were required to write the
missing pinyin. The question was set from the topic of Housing
and Shopping. This question examined the candidate’s ability
to write the pinyin with their respective tones, initial and finals.
The question was as follows:

13



= . 25 X F Fa= 7 E B F
Lird ni ( b)
1#] L = A5% -

C ) tido
1 = 75|
C ) zi
2 == a5
C ) wi
3. FL 227
gud ( D
4. NE=/)
suan ( D
5 F )

A total of 309 (100%) candidates attempted the question, out of
whom 89 (28.8%) candidates scored from 4 to 5 marks, which
is a good performance, 129 (41.7%) candidates scored from 2
to 3 marks, which is an average performance and 91 (29.4%)
candidates scored 0 to 1 marks, which is a weak performance.
The general performance of candidates in this question was
average, since 70.6 (218%) candidates scored 30% or above.
Figure 3 summarizes the candidates’ performance in question 3.

Scores
mD -1

2-3

m4_5

41.7%

Figure 3: The Percentages of the Candidates’ Performance in
Question 3

14



The analysis of the candidates’ responses shows that 89 (28.8%)
candidates performed well in this question as they scored from
4 to 5 marks. These candidates recognized the characters and
wrote pinyin correctly. They also marked the tone
appropriately. This implies that the candidates had sufficient
knowledge of Chinese pronunciation and Chinese characters.
They also mastered well the Chinese finials and initials. Extract
3.1 is a sample of responses from a candidate with good
performance in question 3.

=11 ing
). 47
4
4, huo
Ivo
5.0y

Extract 3.1: A sample of the candidate’s correct responses
to question 3.

Extract 3.1 shows responses from a candidate who wrote
correct pinyin in all items.

Furthermore , the data analysis reveals that 129 (41.7%)
candidates had an average performance as they scored from 2
to 3 marks. Most of the candidates in this category wrote
correctly the pinyin in some items and failed in others. Other
candidates wrote correct initials and finals but failed to mark
the tone correctly. For example, in item 2, most of the
candidates failed to write pinyin for the character & as they

wrote chi instead of g7. This implies that the candidates
confused the pronunciation of the two words.

In item 5, the candidates failed to write pinyin of the character
%z correctly because they did not master it. Some candidates

wrote & without marking a tone. Other candidates wrote u
without marking double dots and a tone. Extract 3.2 is a sample
of responses from a candidate with an average performance.

15



3| 4 Hong
e iaﬂ
3 Ly
4 hud
5.

Extract 3.2: A sample of responses from a candidate with an
average performance in question 3.

In Extract 3.2, the candidate wrote correct pinyin in items 1, 4
and 5 but failed in items 2 and 3.

Further data analysis shows that 91 (29.4%) candidates had
weak performance as they scored from 0 to 1 mark. These
candidates were unable to write pinyin correctly, hence failed
the question. This implies that, they did not master well the
Chinese pinyin. Also the candidates failed to recognize the
Chinese characters which resulted into writing incorrect pinyin.
Others confused the characters having the same pronunciation.
For example, in item 1, the candidates were provided with the

word Z2if (Air condition) in which they were required to write
the pinyin of the first character. Most of the candidates who
scored zero failed to recognise the word 2=i1d (Air condition)

and others were confused about the radical T, thus they wrote

pinyin gong. Some of them wrote the pinyin mican as they saw a
part of a word ticdo thinking that the word was miantiao
(noodles).

In item 2, the candidates were required to write the pinyin of
the first character of the word &+ (wife) which is q1. Most of
the candidates wrote né because they were confused about the
character 2 which has a radical Z (nz). They wrote ni without
tone while others guessed and wrote such unrelated pinyin qun,
qan and shdng.

16



2.2.2

In item 3, the candidates who scored zero did not recognise the
word L% (gift). Few of them confused the radical # with the

character 4~, thus they wrote buz. Similarly, In item 4, the

candidates were provided with a word E & (Chinese painting)
and they were required to write the pinyin of the second
character [&. The candidates who scored 0 did not recognise the

character. Some candidates wrote correct initial and finals but
failed to mark the correct tone.

In item 5, the candidates were provided with a word #)\%&

(granddaughter) and they were required to write the correct
pinyin of the second character which was nii. The candidates
who scored zero did not recognise the character, as few of them
put dots on top of U without marking a tone. Extract 3.3 is a
sample of responses from the candidate who performed weakly
in question 3.

=y iy
n
8 i

¢ Jony

5

Extract 3.3: A sample of incorrect responses to question 3.

In Extract 3.3, the candidate wrote incorrect pinyin in all the
characters given.

Question 4: Filling in the Brackets with Chinese Character
from the Provided Pinyin

In this question, the candidates were given (5) items which had
words comprising two characters, but one of them was omitted.
The candidates were required to write the missing character.

17



The question was set from the topic of Travel and Custom. This
question tested the candidates’ ability to write Chinese
characters. The question was:

vy FE PEBF F 5 7 F o
I . iraa: ni hao
4z] Ler - C 159 O =75

xian Zal
1. C DI < =
Jin tian
2. C DI S
IDuan w1
3. =% C >
chtn tian
4. C > =
Zhong qgin
5. v+ (C P,

The total of 309 (100%) candidates attempted the question, out
of whom 29 (9.4%) candidates scored from 4 to 5 marks, which
is a good performance, 203 (65.7%) candidates scored from 2
to 3 marks which is an average performance and 77 (24.9%)
candidates scored from O to 1 mark, which is a weak
performance. The candidates’ general performance in this
question was average, since 232 (75.1%) candidates scored
from 4 to 5 marks. Figure 4 summarizes the candidates’
performance in question 4.
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Figure 4: The Percentages of Candidates’ Performance in

Question 4

The data analysis shows that 29 (9.4%) candidates had good
performance as they scored from 4 to 5 marks. These
candidates had sufficient knowledge pertaining to writing
Chinese characters. They knew how to write Chinese strokes
and characters by adhering to the rules. They also mastered
well Chinese pinyin and their characters which helped them to
write correct answers and scored full marks. For example, in
item 1, the candidates were required to write the character .
Most of the candidates were able to write this character because
they had adequate knowledge about writing Chinese characters.

In item 2, the candidates were required to write the character 4.
They wrote this character correctly because they understood the
meaning of the word given which was 4 X (today). Hence they
got the item right. Likewise, in item 3, the candidates were
required to write the second part of the character w4 (dragon

boat). These candidates wrote these characters correctly
because they had adequate knowledge of writing Chinese
characters by comprising with the rules. They were also able to
identify the character of the given pinyin.
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In items 4, the candidates were required to write the character
#& which aimed at completing the word Z&X (spring). These

candidates wrote the character correctly because they had
adequate knowledge about recognition of characters.

In item 5, the candidates wrote correctly the character &k

because they had sufficient knowledge of writing Chinese
characters. They also had good knowledge of memorizing
Chinese character which enabled them to identify the meaning

of the word &%k (mid-autumn). Extract 4.1 is a sample of
responses from a candidate who performed well in question 4.

w37

, A
v

i

g'}f{*. ‘l

U

Extract 4.1: A sample of the candidates’ correct response to
question 4.

In Extract 4.1, the candidate wrote correct characters in all
items.

Further analysis shows that 203 (65.7%) candidates had an
average performance as they scored from 2 to 3 marks. These
candidates scored full marks in few items and failed in others.
For example, in item 3, the candidates were required to write

& wa which completes the word w4 referring to Chinese

traditional festival. Some candidates wrote & w (five) because

they confused the pronunciation of these two characters. This
implies that the candidates identified the pronunciation (pinyin)
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but confused the character. Extract 4.2 is a sample of responses
from a candidate who performed averagely in question 4.

w1 1,

N
£

a.

°

.5,
4 B,
5 %kw . +

Extract 4.2: A sample of responses from a candidate with
an average performance in question 4.

In Extract 4.2, the candidate wrote correct answers in items 2, 4
and 5 but failed in item 1 and 3.

Moreover, the data analysis reveals that 77 (24.9%) candidates
had a weak performance as they scored from 0 to 1 mark.
These candidates did not master well the Chinese characters
and their pinyin which made them to write incorrect characters.
Some candidates left the question unanswered while others
copied some characters from the question paper. For example,

in item 1, the candidates were required to write the character 3
but they failed due to their insufficient knowledge of Chinese
character. Some of them wrote unrelated character like # and

#8 where as some candidates forgot to write the left part of the

character which is the radical E wrote .

In item 2, most of the candidates failed to write strokes
correctly as some of them wrote < and % instead of 4. In item

3, the candidates were required to write the character 4 which

is pronounced as wu given that Chinese language has many
characters which having the pronunciation similar to the pinyin

wa. Thus, some candidates got confused and wrote that of &
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2.2.3

wii (five) instead of 4. Others wrote & which was also a
wrong answer.

In item 4, the candidates were required to write & but some of

them wrote unknown characters like & and % . This implies
that the candidates had insufficient knowledge about writing
the Chinese characters.

In item 5, the candidates were required to write #. Some of

them wrote H7K, /v and &k, which implies that they did not

have enough skills on writing the Chinese characters. Extract
4.3 is a sample of responses from a candidate who performed
weakly in question 4.

1

47

A

S

z
Al
N i a

b ":Q&E

Extract 4.3: A sample of the candidate’s incorrect responses to
guestion 4.

In Extract 4.3, the candidate wrote incorrect characters in all
items.

Question 5: Choosing the Correct Character from the
Given Two Similar Characters

The candidates were given five sentences with two characters
and they were required to choose one suitable character
between them in order to complete the meaning of the sentence.
These characters had some slight similarities in either
phonology or morphology. The question was set from the topic
of Colour and Size. It aimed at testing the candidates’ ability to
differentiate the uses of two characters which are slightly
similar. The question was as follows:
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. EFHE. )

Limi: W4 jia you kou rén.

Bldm: BEAH_S oA, Gu/) i
Ma Lili de yifu shi sé de

1. B eARIRA eny, (/L )
W& de jigjie ydu yi tido qun zi

2. AAjdeda A —4& T, (/8
Huayuin 11 ydu zhdng yéansé de hua

3. EEH A& L. (N/A\)
W gége de zhe shuang xié taa le

4. HFFEEW B K Te (X/X)D
Shan shang ydu h&n dud hudngse de hua

5 Ek HF ORE KE M oo /a9

A total of 309 (100%) candidates attempted the question, of
whom 116 (37.5%) candidates scored from 7 to 10 marks,
which is a good performance, 176 (57.0%) candidates scored
from 3 to 6 marks which is an average performance and 17.0
(5.5%) candidates scored from 0 to 2 marks, which is a weak
performance. The candidates’ general performance in this
question was good, since 292 (94.5%) candidates scored 30%
or above. Figure 5 summarizes the candidate’s performance in
question 5.

Scores
mQ -2

m3 -6
7 -10

Figure 5: The Percentages of the Candidates’ Performance in
Question 5

The data analysis shows that, 116 (37.5%) candidates had good
performance as their scores ranged from 7 to 10 marks. These

candidates mastered well the Chinese characters as they
23



managed to write correct answers there by being able to
differentiate between the pronunciations of the given characters.
For example, in item 1, the candidates understood the meaning

of 21 (red) and T (work/job). They also knew the meaning of
the sentence that was talking about colour and not job or work.
Therefore, they chose the correct answer 21 (red).

In item 2, the candidates knew the meaning and different uses
of the character B (white) and 8 (possessive particle). They
realized that the sentence was about colour of the clothes worn
by elder sister. Therefore, they identified the correct answer B
(white).

In item 3, the candidates were required to identify colours of
flowers in the garden. They were able to differentiate the form

and meaning of the characters A (enter) and /\ (eight). They
also identified the measure word # (kind) which is always
used after a number. Thus they wrote the correct answer J\
(eight).

In item 4, the candidates were able to identify the structure of
A..... T in which an adjective should be placed between X and

T . They also identified X (big) as an adjective and X
(very) as an adverb. Therefore, they managed to write the

correct answer X (big).

In item 5, the candidates knew the meaning of the characters 7>
(few) and /v (small) as well as their usage. They knew

that /v (small) is used in size and 4> (few) in quantity.

Extract 5.1 is a sample of the candidate’s correct responses to
question 5.
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Extract 5.1: A sample of the candidate’s correct responses to
question 5.

In Extract 5.1, the candidate managed to write correct answers
in all items.

Furthermore, the data analysis shows that 176 (57.0%)
candidates had an average performance as they scored from 3
to 6 marks. These candidates scored full marks in some items
and failed in others. The analysis shows that, they had partial
knowledge about differentiating the meaning of some given
words. For example, candidates failed to identify the difference

between X (very) and X (big) ; /\ (eight) and A (enter) ; /I’
(small) and 4> (few). Thus they failed to recognise the suitable

character. Extract 5.2 is a sample of responses from a candidate
with an average performance in question 5.

KR!
2 |84

LI
S

NS

Extract 5.2: A sample of responses from a candidate with an
average performance in question 5.
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In Extract 5.2, the candidate was able to write correct answers
in items 1, 3 and 4 but failed in items 2 and 5.

Additionally, the data analysis indicates that 17.0 (5.5%)
candidates had a weak performance as they scored from 0 to 2
marks. These candidates had insufficient knowledge of writing
Chinese characters. They failed to abide by the rules of writing
Chinese characters as well as differentiating their morphology.
Some candidates failed to distinguish characters with slight
similar pronunciation and forms. For example, in item 1, the
candidates were required to identify the colour of Ma Lili’s
clothes. But most of those who scored 0 failed to identify the
character of colour in the given alternatives. They failed to

identify the correlation of the character & (colour) which
matched with a character 2 (Red) to make a complete
character ZI & (Red colour).

In item 2, the candidates who scored O did not know that after
the measure word & (used for trouser) should be followed by

an adjective B (white). The candidates failed to realise that a

word B (white) was an adjective.

In tem 3, the candidates were required to identify the number
of colours. The candidates who scored O failed to identify the

measure word # (type) which is always followed by a number.
Also some candidates failed to distinguish between the
character /\ (eight) and A (Enter) because of their slight
morphological similarities.

In item 4, the candidates who scored zero did not know the
uses of an adverb of degree X (very) which is followed by an

adjective. In this item the only adjective was X (big). Similarly,
in item 5, the candidates who scored 0 did not know that the
word which accompanied the possessive particle B is a noun

phrase and that the only word forming a noun phrase was /]
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2.3

(adjective of size) and not adjective of amount 4> (few).

Extract 5.3 is a sample of responses from a candidate with
weak performance in question 5.

314

Extract 5.3: A sample of the candidate’s incorrect responses to
question 5.

In Extract 5.3, the candidate wrote incorrect characters in all
items.

SECTION C: GRAMMAR PATTERNS

This section had 3 questions: questions 6, 7 and 8 all of which were to
be attempted by the candidates. Questions 6 and 7 carried 5 marks
each and question 8 carried 10 marks making a total of 20 marks in
this section.

2.3.1 Question 6: Multiple Choice items

The question had 5 multiple choice items in which the
candidates were required to choose the correct answers among
the given alternatives. The question was set from the topic of
Food and Hobby. It examined the candidates’ ability to use
different grammatical expressions to introduce someone or
express oneself. The question was as follows:
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. #®BA,

Lini: Ni shénme mingzi ?
Blda: &2 ( B ) H2LF?
shi jido qu hui
A R B # c * D &

W6 hé baba yiyang xihuan di .
1. & REE—H EX 41 ( ) .
yiméoqit shii hua yinyué
- A REX B $ C & D &k
Xidohong de mama féichang xthuan chi .
2 BB EF ERe ().
qishui miantido gudzhi nitindi
ARK B EEF G R D 4B
Zh¢ ge canting de kaféi hen hdo

3. BA BA 8 R ( )o -

di chi xié he
A 47 B "¢ C 5 D B
Yéye zhe zhou dou qu gongyudn di  taijiquan.
4. FFL A ( ) Ak AR ATTAHE,
Xingqiwii Xinggilit Xingqitian ‘ tiantian
AEHE B 2M~ c 2HX D KX
W hua guéhua.
5. & ( ) & Ba,
hui you shi jido
A2 B A C & D

A total of 309 (100%) candidates attempted the question, out of
whom 163 (52.8%) candidates scored from 4 to 5 marks, which
is a good performance, 93 (29.8%) candidates scored from 2 to
3 marks which is an average performance and 54 (17.5%)
candidates scored 0 to 1 mark which is a weak performance.
The candidates’ general performance in this question was good,
since 256 (82.5%) candidates scored from 3 to 5 marks. Figure
6 summarizes the candidates’ performance in question 6.
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Figure 6: The Percentages of Candidates’ Performance in
Question 6

The data analysis reveals that 163 (52.8%) candidates had good
performance as they scored from 4 to 5 marks. These
candidates had sufficient knowledge of Chinese language
sentence structure and grammar. They managed to choose the
correct answers in all items because they understood the
meaning of the words and sentences given. For example, in

item 1, the candidates knew the meaning of a verb #T (play)

which can be followed by the word J1E8k (badminton). They
noted that other alternatives given were not nouns and were not
related with the verb #T (play).

In item 2, the candidates understood the meaning of the verbs
¥z (eat) and R§ (drink). They knew that alternative B M5

(noodle) relates with verb Bz (eat) and that the rest of the
alternatives related with the verb % (drink). Hence they chose

the alternative &%k (noodle).

In item 3, the candidates knew about the uses of the adjective
#¥ (good) in expressing how the action is done. They also knew

that a word MimE (coffee) in the sentence was used with the
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verb Bg (drink). They were aware that only the verb fg§ (drink)

can be used with a noun ik (coffee). Hence they managed to
choose the correct answer.

In item 4, the candidates were aware that the word (week) in
the sentence had the same meaning as the word 2% (week)
among the alternatives, so these words could not be used
together. Hence they opted for D XX (every day) which was
the correct answer.

In item 5, the candidates realized that a word [& (drawing) was
used as a main verb which could be accompanied by an
auxiliary verb. They chose A & (can) because they knew that

it was the only auxiliary verb among other alternatives given.
Extract 6.1 is a sample of the candidate’s correct response to
question 6.

A

A A N

Q.

%,

?

PAEN ) ' ‘ PR
. .
A

s

Extract 6.1: A sample of the candidate’s correct responses to
question 6.

In Extract 6.1, the candidate filled in all the blanks by choosing
the correct answers.

Moreover, the data analysis shows that, 93 (29.8%) candidates
performed averagely as they scored from 2 to 3 marks. These
candidates had insufficient knowledge of Chinese sentence
structure as well as vocabulary and their meaning. These
candidates managed to answer correctly in some items but
failed in others. For example, in item 2, the candidates were

required to identify a verb fz (eat) in the question. Then they
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were also required to find the alternative which could match
with the verb Iz (eat) which was @ 5§ (noodle). Some
candidates opted C &/t (juice) which was wrong because you
can not iz (eat) 8t (juice). £t (juice) can be used with the
verb #g (drink).

In item 3, the candidates were required to describe the taste of
the coffee. Some of the candidates opted for B iz (eat) which

was wrong because, they were not aware that Mk (coffee)

cannot be used with ¥z (delicious) as it is used only for food
but not for drinks.

In item 5, some candidates failed because they did not
understand the other meaning of the word & ( to draw) when

used as a verb. Those who opted B & (have), they used [&
(painting) as a noun. They misunderstood the meaning of the
word @&, thus they ended up choosing an incorrect answer.

Extract 6.2 is a sample of responses from the candidate with an
average performance in question 6.

"'—\ i, C
2D
77
9 D
3) A

Extract 6.2: A sample of responses from a candidate with
average performance in question 6.

In Extract 6.2, the candidate wrote correct answers in items 4
and 5, but incorrect answers in items 1, 2 and 3.

Finally, the data analysis reveals that, 54 (17.5%) candidates
had weak performance as they scored from 0 to 2 marks. The
candidates who scored 0 had inadequate knowledge of Chinese
sentence structure as well as vocabulary that hindered them to
differentiate the meaning of the given distracters. Some
candidates chose words randomly. For example, in item 1, the
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candidates did not understand the meaning of the verb $T (play)

which needed to be used with a word 3 E&k (badminton).
They were not aware that other alternatives given were nouns
which could not be used together with a verb 4T (play).

In item 2, the candidates confused the meaning of the verbs Iz
(eat) and Mg (drink). They did not know that alternative B mE5
(noodle) related with the verb #z (eat) and that the rest of

alternatives related with a verb Bg§ (drink). Hence they chose
incorrect answer.

In item 3, the candidates with O mark were not familiar with the
uses of the word #F (good) in expressing the way an action is

done. They were also not aware that MimE (coffee) in the
sentence can be used together with a verb g (drink). They
were not aware that #FPg§ (delicious/sweet) can be used to

describe a noun Mk (coffee).

In item 4, the candidates who scored O had insufficient
knowledge of Chinese vocabulary which are synonymous. The

word & (week) in the sentence had the same meaning as the

word 24 (week) among the alternatives. These words cannot
be used together.

In item 5, the candidates were not aware of the word &
which may mean have two meaning (drawing) or (painting).
They failed to notice that the word & (drawing) was used as a
main verb and could be accompanied by an auxiliary verb.
They chose incorrect option because they did not know that &

(can) was the only auxiliary verb among the alternatives given.
Extract 6.3 is a sample of the candidate’s incorrect responses to
question 6.
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Extract 6.3: A sample of the candidate’s incorrect responses to
question 6.

In Extract 6.3, the candidate chose incorrect answers in all
items.

Question 7: Choosing the Correct Vocabulary from the
Given Two Similar Patterns

In this question, the candidates were given two vocabulary
items from which they were required to choose one word to
complete the given sentences. The question was set from the
topic of Jobs which aimed to examine the candidates’ ability to
talk about jobs. The question was as follow:

. REFLEHAZRAT. ARFASE,

Lird: Wo Josh.

Flde: & _R /. (&/*)
Ni shi shi gdngchéngshi?

1. k& & IAF?  (R/&)
W méiydu kin dao Xidohdi, nizhiddota qu érle ma?

2. K ORE A B, hedtk LTS (FR/H)
Nin gége shi kéxuéjia

3 BFFAMFE 7 (e/R)
Mama shi hishi, 5 yiyuin gongzuo.

4 BREFE ERIH. (£/2)
Xingqi tian wdmen ddu liting kén bidoyan,

5 EMRAM & LEERR, (2/8)
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The question was attempted by 309 (100%) candidates, among
them 251 (81.2%) candidates scored from 3 to 5 marks, which
is a good performance, 37 (12.0%) candidates scored from 1.5
to 2.5 marks which is an average performance and 21 (6.8%)
candidates scored 0 to 1 mark which is a weak performance.
The candidates’ general performance in this question was good,
since 288 (93.2%) candidates scored 30% or above. Figure 7
summarizes the candidates’ performance in question 7.

Scores
mo-1

15-25

m3 -5

Figure 7: The Percentages of the Candidates’ Performance in
Question 7

The data analysis indicates that 251 (81.2%) candidates
performed well in this question as they scored from 3 to 5
marks. These candidates understood the requirement of the
question. They also had adequate knowledge of Chinese
vocabulary and their uses. Hence they chose the correct answer.
For example, in item 1, the candidates mastered well the
grammatical structure of 42 (yes or not) which is used to
ask questions when the speaker wants to confirm what he/she
already believes.

In item 2, the candidates had sufficient knowledge of the
Chinese vocabulary as they managed to use interrogative

pronoun #JL (where). They also knew that at the end of the

sentence there was an interrogative pronoun 15 (interrogative
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particle) which can be used with a word BJL (where) to form a
question.

In item 3, the candidates knew about the uses of M
(interrogative particle) which is used for suggestion, request or
command as well as the use of the € (interrogative particle).

They also knew that the sentence given required IB which is
always used to confirm information. Therefore, they could not
use ME because PE is used to respond to a question that the
speaker has just asked.

In item 4, the candidates had sufficient knowledge of Chinese
language preposition. They were aware that a preposition 7£ (at)
is used before a noun of place to show the existence of
something. They also knew that B (inside) was not the correct

answer because it is used as preposition to tell that something is
inside something else.

In item 5, the candidates were aware that ¥ (toward) is a

preposition that used to show direction while % (go) is the verb

which denotes movement. Thus they did not choose % (go)

because they knew that it is used before a noun to show the
process of moving towards a place. Extract 7.1 is a sample of
the candidate’s correct responses to question 7.

Yo ly K.

2. uAR .,

3 OB, ' -
L‘;'&a
I -

Extract 7.1: A sample of the candidate’s correct responses
to question 7.
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In Extract 7.1, the candidate wrote correct answers in all items.

The data analysis reveals that 37 (12.0%) candidates performed
averagely as they scored from 2 to 3 marks. These candidates
had insufficient knowledge of the Chinese grammar and
vocabulary. They failed to identify the meaning of the given
distracters. Some candidates answered correctly in some items
while failed in others. They were familiar with few vocabulary

items. For example, in item 1, the candidates who wrote %
(not) got it wrong because they did not master the grammatical
structure of 24 & (yes or no) as they opted for the non-

existing structure of 2% 2.

In item 3, some candidates scored O in this item because they
failed to distinguish between two interrogative particles 1B

(used for suggestion, request or command) and B (used to
respond to a question that the speaker has just asked). They
chose B which could not be used in an affirmative sentence.

The correct answer was I which is used for confirmation.

In item 5, the candidates who scored 0 had insufficient
knowledge about the uses of the verb % (go) and the

preposition ¥ (towards). The sentence required a verb & (go)
to express a complete idea given that there was a name of place
after a blank in which ¥ (towards) could not be used since it is
used to show direction and not an action of movement. Thus,
the correct answer was the verb = (go) as it completes

meaning of the given sentence. Extract 7.2 is a sample of
responses from a candidate with an average performance in
question 7.

Arlt) A
2) AE.
2) nf,.
8 [t
Y %

36



Extract 7.2: A sample of responses to question 7 from a
candidate with an average performance.

In Extract 7.2, the candidate managed to write correct answers
in items 1, 4 and 5 but failed in items 2 and 3.

Furthermore, the data analysis indicates that, 21 (6.8%)
candidates performed weak as they scored from 0 to 2 marks.
These candidates did not master well the given vocabulary and
this hindered them from understanding the meaning of the
sentences given, thus resulted them to write wrong responses.
Most of the candidates picked words randomly. For example, in
item 1, the candidates did not master well the grammatical

structure of @42 (yes or not). This is evidenced by their
failure to use the aforementioned structure correctly.

In item 2, the candidates who scored O failed to use an
interrogative noun #BJL (where). They also did not notice that,

there was an interrogative pronoun 5 which goes with BJL
(where) at the end of the sentence. Therefore, it implies that #}

JL (there) cannot be used for asking questions, it is a
demonstrative pronoun.

In item 3, some candidates scored O because they failed to
distinguish between two interrogative particles "B (used for

suggestion, request or command) and B (used to respond to a

question that the speaker has just asked). They chose B which

could not be used in an affirmative sentence while others left
the blank unfilled. The correct answer was an interrogative

particle &,

In item 4, the candidates had inadequate knowledge of Chinese
language preposition. They did not know that when the

preposition 7£ (at) is used before a noun of place it shows the

existence of something. They also did not know that £ (inside)

was an incorrect answer because when it is used as a
preposition expresses something being inside somewhere.
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2.3.3

In item 5, the candidates did not know the difference between
2% (go) and 1% (toward). They were also not aware that 1%

(toward) shows direction and % (go) is verb which denotes the

action of movement. Extract 7.3 is a sample of responses from
one of the candidates who performed weakly in question 7.

h L F
T AR ’
5THRL
B

5 1% .

f

Extract 7.3: A sample of the candidate’s incorrect responses to
question 7.

Extract 7.3, illustrates the performance of the candidate who
wrote incorrect answers in all items.

Question 8: Re-arranging the Jumbled Words into Correct
Sentences

In this question, the candidates were given 5 items with
jumbled words. They were required to re-arrange them into
meaningful sentences. The question was set from the topic of
Fashion and Entertainment and tested the candidates’ ability to
state entertainment activities.
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AL EFER A

Li rd: shi Zhdnggud wo rén
Blde: O QOFEH . @K @A
©OVIC)] . 4
chdng chéng Ying wén gé ting Li i

. %% Q% x% O@%  @mm

ma le dian ying yuan kai mén
2. @B @7 ®@% ¥ Kk @71

I
Xin wén Xidng kan kan ba ba
3. @#m\m @ OF & @EE
‘ o
zi qid t gé ge hén hio t1 de

4. @DE#x @ OFF @RIF O} 222

°

xi huan kan dian ying gén péng you yi yang

wo
5. @& @ OF ¥ @& A ©—#

The question was attempted by 309 (100%) candidates, out of
whom 120 (38.8%) candidates scored from 8 to 10 marks
showing a good performance, 94 (30.4%) candidates scored
from 3 to 6 showing an average performance and 95 (30.7%)
candidates scored from 0 to 2 marks indicating a weak
performance. The candidates’ general performance in this
question was good, since 214 (69.3%) candidates scored from
30% or above. Figure 8 summarizes the candidates’
performance in question 8.

Scores
mD -2

=T -10

Figure 8: The Percentages of the Candidates’ Performance in
Question 8
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The data analysis shows that 120 (38.8%) candidates
performed well in this question as they scored from 7 to 10
marks. These candidates managed to re-arrange the jumbled
sentences correctly because they had sufficient knowledge of
Chinese language structure, grammar and the meaning of the
given vocabulary. For example, in item 1, the candidates
mastered well the structure S + Adv + V + O. They were

aware that the verb B (listen) had to be used after an adverb &

& (often) to show the repetition of an action.

In item 2, the candidates who wrote correct sentences were
familiar with the structure S + V+7T + 3. They wrote the

correct answer @@Q® BRI T (Is the movie theatre

open?). They knew that when T is used after a verb it shows
that a change of state or action has been occurred. They also
noticed that the noun phrase 25 Fx was the first word which
could be used as a subject.

In item 3, the candidates re-arranged the sentences by using the
structure S+V1+V2+0O. They knew that V1 is an auxiliary
verb which always goes with the main verb V2. They used it to
write the correct answer W®@@)@ (My father wants to watch
News).

In item 4, the candidates were required to use the structure S+
V+N+V+13+Adj to answer the question. Hence, the candidates

wrote such a correct answer as @@0DB@ FH =5 B BB SR
%% (My elder brother plays well football).

In item 5, the candidates mastered well the comparison
sentence structure A+ER+B+—4£+V1+ V2+N. Therefore, they

wrote the correct answer @ @GOG HBIARK—HENELY

(I and my friend like to watch movie). This shows that the
candidates had sufficient knowledge of analysing and arranging
Chinese sentence structures. Extract 8.1 is a sample of
responses from the candidate who performed well in question 8.
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Extract 8.1: A sample of the candidate’s correct responses to
question 8.

Extract 8.1 shows the responses from the candidate who
managed to re-arrange correctly the jumbled words in all items.

Furthermore, the data analysis reveals that 94 (30.4%)
candidates performed averagely as they scored from 3 to 6
marks. These candidates were able to answer correctly in some
items but failed in others. They were unfamiliar with the
meaning of some jumbled words. This implies that the
candidates had partial knowledge of Chinese grammar sentence
structure. For example, in item 2, the candidates who scored
zero had inadequate knowledge on the Chinese grammar S +

V+T + 3. They wrote such an incorrect answer as @@1@)
EBEPT FFIII3 T (the movie theatre open is). They put T at

the end of the sentences without knowing that 7 is followed by
a main verb.

In item 3, some candidates scored zero because they did not
master the structure S + V1+V2+O. For instance, some

candidates wrote @@DE) BEEEFHEEE (My father wants
news to watch) which was not correct because they did not
know the meaning of the noun #ti& (News) and where to place
it to make a correct sentence.

In item 4, the candidates who scored 0 did not know the
structure S+ V+N+V+1§+Adj. Some candidates wrote ®@®

@O FFBRHKEFTHE (My elder brother plays football
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well). These candidates did not know where to put ® #5%5.

This implies that the candidates in this category had
insufficient knowledge of the Chinese language structure S+

V+N+V+13+Ad]j. Extract 8.2 is a sample of responses from a
candidate who performed averagely in question 8.

LY

ANBNC/0I00
PARNOICNOO),
AENCEONOE)

w0 0EHE
ANANCICROICIE

Extract 8.2: A sample of responses from the candidate with
an average performance to question 8.

In Extract 8.2, the candidate re-arranged words correctly in
items 1, 2 and 5 but failed in items 3 and 4.

Furthermore, the data analysis shows that 95 (30.7%)
candidates had a weak performance as they scored from 0 to 2
marks. These candidates did not understand the meaning of the
given words. They also had inadequate knowledge of Chinese
grammar and vocabulary. Thus, this resulted to incorrect re-
arrangement of sentences. Some candidates left the question
unanswered. For example, in item 1, the candidates confused
the Chinese grammar with that of Swahili according to which

the adverb &% (often) come after the verb. Hence they wrote
@EO@O® WWrzEXXFES (Lili listens English language
music always) and others wrote @D@@) WA &= X RIT
(Lili always English language music listens).

In item 2, some of the candidates were not familiar with
syntactic structure S + V+7T + [E. They failed to understand
that 1 should be used after the verb FFi"] (open the door). Thus,

they ended up writing incorrect answers such as @@ ]
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EBSPx 715 (open the movie theatre is) and OD@D@®) BT

52B5% (Is open the movie theatre).

In item 3, some candidates wrote @B EEEHEEE
(My father wants news to watch) because they did not know
the meaning of the word %78 (news). Some of them picked
words randomly and formed ungrammatical sentences like @
@O@ BEEEHEE (My father to watch news wants).

In item 4, the candidates did not master well the Chinese
sentence structure S+V+N+V+1§+Ad] as well as the meaning
of the given words. For example, some candidates wrote 3@
@60 FFHBEFBHBB (My elder brother plays well the
way plays football) while others wrote ® D@2 ®) F3F B 1R

175857 (My elder brother football well plays the way plays)
both of which were incorrect answers.

In item 5, the candidates were required to use comparison
sentence structure A+ER +B+—1E+Adj+EH b to answer the

question. However, they failed to re-arrange words into
meaningful sentences due to lack of knowledge of Chinese

sentences structure. Some candidates wrote 2 D@ ® 3 FE=EW

BAKRK—EFEB/R (I like with friends the same to watch

movie). Extract 8.3 is a sample of the candidate’s incorrect
responses to question 8.
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2.4

Extract 8.3: A sample of the candidate’s incorrect responses
to question 10.

In Extract 8.3, the candidate re-arranged incorrectly the words
in all the items.

SECTION D: LANGUAGE USE

This section had three questions; namely questions 9, 10 and 11. The
candidates were required to answer all the questions. Question 9 and
10 carried 5 marks each and question 11 carried 10 marks making a
total of 20 marks.

2.4.1 Question 9: Matching Items

This question consisted of columns A and B where in column A,
the candidates were provided with 6 items and one item served
as an example. They were required to match the statement in
column A with the correct response from column B. This
question was set from the topic of Introducing Yourself and
Friends. It aimed at examining the candidates’ ability to
introduce themselves and friends. The question was as follows:
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o RERHE, F-BEECLLE,

AR B #
Nihio! « ' L4i gud.
1. 47! A kif,
NI péngyou yduméiydu qugus Guingzhou ? Hui.
2. OMA HRA £it ;M2 B &
Ni yéye ybuméiyvdu zuo gud faiji ? Bu yuan.
3. MREFA EA AT MY ¢ R,
NI téngxué huibuhui of zixfngchs ? Bii dua. ‘
4. R FATEK AT E? D X%,
Ditié pio de kuai bi kuai ? Zud guo.
5. MBI BARK? E &,
Gonggong giché shang rén dusbudus ? Ni hio!
6. At HELE ABRS? FoffdF!
Méi qlguo.
6 &+,
Kuai de hén.
Ho iR,

The question was attempted by 309 (100%) candidates, out of
whom 282 (91.3%) candidates scored from 4 to 5 marks, which
is a good performance, 14 (4.5%) candidates performed
averagely by scoring from 2 to 3 marks and 13 (4.2%)
candidates scored from 0 to 1 mark which is a weak
performance. The candidates’ general performance in this
question was good since 299 (95.8%) candidates scored 30% or
above. Figure 9 summarizes the candidates’ performance in

question 9.
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Figure 9: The Percentages of the Candidates’ Performance in
Question 9

The data analysis shows that 282 (91.3%) candidates had good
performance as they scored from 4 to 5 marks. The candidates
who wrote correct answers had sufficient knowledge of
Chinese language structure. They also knew well as how to
answer questions in short form. For example, in items 2 and 3,

the candidates mastered well the structure V+3 which shows
past experience. In items 2 and 3, the questions were {REER &
B/AEXEI M ? (Had your friend ever been in Guangzhou?)
and fRFF B XA LT ¥ (Had your grandfather ever

travelled by Airplane?) respectively. The candidates were
aware about answering questions in positive and negative form.

In items 4, 5 and 6, the candidates were given the questions
with a structure V+#F+V and Adj+4+Adj respectively. The

candidates were required to match by identifying the
affirmative sentence or negative sentence according to the
question. These candidates were aware of the way of answering
this question in positive and negative form. They wrote the

correct answers = (can) and &% (not many) in item 4 and 6
respectively. In item 5, the candidates were aware with the
structure of V+13+Adj which shows the degree or level of
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condition. Extract 9.1 is a sample of the candidate’s correct
responses to question 9.

AR 2 s [t ] |
s KE | F |G E |8 H|D |

Extract 9.1: A sample of the candidate’s correct responses
to question 9.

In Extract 9.1, the candidate matched all the given statements
from column A with correct responses in column B.

Further analysis indicates that 14 (4.5%) candidates had an
average performance as they scored from 2 to 3 marks. The
candidates had partial knowledge of the Chinese sentence

structure V+A+V and Adj+A +Adj. Most of the candidates
who scored averagely failed to respond correctly in item 3.
They were confused by an alternative A 33 (came) because

they failed to differentiate between 333 and 433 (sat), where
4 77 was the correct answer. Therefore, most of them choose 3

2 which was wrong.

In item 2, most of the candidates chose A 33J (came) instead
of G &Z%% (did not go) because they associated the word 3

with in &% (went) and 3 with the word 3&3Z, respectively.
This reveals that they did not know the meaning and uses of the

two words. Extract 9.2 is a sample of responses from a
candidate with an average performance.
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b
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Extract 9.2: A sample of responses from a candidate with an
average performance in question 9.

In Extract 9.2, the candidate was able to write correct answers
in items 2, 4 and 6 but failed in items 3 and 5.

Moreover, the candidates’ response analysis shows that 13
(4.2%) candidates had a weak performance in this question as
they scored from 0 to 1 mark. They had insufficient knowledge

of Chinese sentence structures V+#4+V and Adj+A+Adj. They

did not understand the meaning of the given alternatives as
well as the meaning of the questions. Hence, they ended up
making a guess work by choosing alternatives randomly. For
example, in items 2 and 3, the candidates did not understand
the meaning of the sentences and the alternatives given. They

also did not know the use of the syntactic structure V+3iJ. For
instance, in items 2 and 3, some candidates wrote &% (not

many) and A~z (not far) which were wrong responses.

Similarly, in items 4, 5 and 6, the candidates seemed not to
have sufficient knowledge of the Chinese sentence structure,

V+ A& +V and Adj+ & +Adj. For example, in item 4, the
candidates were asked fREIZEXAFAKRH BT E (Is your
classmate able to ride a bicycle or not?). In responding to this
question, some candidates chose A~izx (not far) which was
incorrect.

In item 5, the candidates were asked #i#xE@RIRAR (Is the
Subway fast or not?) and they chose 33 (came). In item 6,
they were asked 2 #£/5% EAZAZ (Are People in the public

bus many or not?) and answered 433 (taken a transport). All of

these responses were incorrect. This implies that the candidates
did not master well the short form of answering question.
Extract 9.3 is a sample of responses from a candidate with
weak performance in question 9.
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Extract 9.3: Ais a sample of candidate’s incorrect responses
to question 9.

Extract 9.3, illustrates the performance of the candidate who
wrote incorrect answers in all items.

Question 10: Filling in the Blanks by Using the Given
Words

In this question, the question comprised 5 items in which the
candidates were required to choose the correct answers from
the given alternatives and fill in the blanks. The question was
set from the topic of Transportation and Time. The question
examined the candidates’ ability to describe weather. The
question was as follows:

. REBEE, FMEELLE,

A B B T C % D 4 Extd F &%
Ni jiao shénme ?
T e HACF)?
Tamen cong shanshang zou shanqu.
2. ffl Kk & () &k
Ta shi women xuéxiao gao de xuésheng.
3. RRAM FR () BMFL,
Tishiiguan ti ylgudn hén yudn.

4. AHE () HEE R &,
Dongwuyuan zai bowuguéin .
5. #hE AdHE ().

Chuang de fengjing piaoliang ji le.
6. & () HAF Ex MT.
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A total of 309 (100%) candidates attempted the question, out of
whom 99 (30.4%) candidates scored from 4 to 5 marks, which
is a good performance, 116 (37.5%) candidates scored from 2
to 3 marks which is an average performance and 94 (32.0%)
candidates scored from 0 to 1 mark which is a weak
performance. The candidates’ general performance in this
question was good, since 210 (68.0%) candidates scored 30%
or above. Figure 10 summarizes the candidates’ performance in
question 10.

Scores
mO -1
2 -3

.4 -5

37.5%0

Figure 10: The Percentages of the Candidates’ Performance in
Question 10

The data analysis shows that 99 (30.4%) candidates had good
performance as they scored from 4 to 5 marks. These
candidates had sufficient vocabulary and grammar which
enabled them to choose the correct answers. For example, in
item 2, the candidates chose the correct answer | (down) to
make a sentence. They knew that | is the complement word of
direction and that it was used in the sentence to show down of
the mountain.

In item 3, the candidates were required to choose an adverb of
degree £ (most) which was emphasing the pronoun 4t (he).

The candidates knew that & (high) is an adjective which

should be used before an adverb. The adverb & (most) was the
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only adverb mentioned among the given alternatives. Thus,
they chose the correct answer.

In item 4, most of the candidates chose the correct answer A &

(away from) as they knew that the question required them, to
state the distance from the library to the gym. The correct word

was & (away from) which is used to show the distance from
one place to another.

In item 5, the candidates were required to choose a word which
shows direction. These candidates scored full marks because

they mastered well the structure N+#£+N+7 @ (direction).
Therefore, they chose E X[ as the correct answer.

In item 6, the candidates understood the meaning of the
sentence and the given alternatives. They knew that the word

& (window) co-occurs with the word 4+ (outside) to complete

the word &4} which means outside the window. Extract 10.1
is a sample of the candidate’s correct responses to question 10.

i;ﬁ' B.
13 C-
kA
S E.

6 N.

Extract 10.1: A sample of the candidate’s correct
responses to question 10.

Extract 10.1 shows the performance of a candidate who filled
the brackets with the correct answers in all items.

Moreover, the data analysis shows that 116 (37.5%) candidates
had performed averagely as they scored from 2 to 3 marks. The
candidates were able to answer some questions correctly while
failed in other items. These candidates had partial knowledge
of the meaning of Chinese vocabulary. For example, in items

3 and 6, some candidates opted for A & (away from) which
was wrong because & is used to show the distance from one
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place to another but the sentence given was not talking about
distance. Thus they failed to identify the meaning of a
particular word and its uses in the sentence.

In item 4, some candidates opted D %} (outside), which was
incorrect because the sentence was talking about distance
between the EHTE (library) and {A&TE (sport ground). 4%

(Outside) was incorrect because it cannot be used between two
nouns of place to show distance. Extract 10.2 is a sample of
responses from a candidate with an average performance.

+ [N F
=) B
3) ¢
3 0b

) e

g@)i\—

|
I

Extract 10.2: A sample of responses from a candidate with
an average performance in question 10.

In Extract 10.2, the candidate filled in the brackets with correct
responses in items 2, 3 and 5 but failed in items 4 and 6.

Furthermore, the data analysis indicates that 94 (32.0%)
candidates had a weak performance as they scored from 0 to 2
marks. These candidates did not understand the given question
due to inadequate knowledge of Chinese vocabulary, meaning
and its uses. Some candidates left the question unanswered. For

example, in item 2, some candidates opted D (4}) instead of B
T (down) as the only word that co-occurs with the verb &
(walk). They did not understand the meaning of the word 1L _E

(top of mountain) as well as that of the whole sentence.

In item 3, the candidates were supposed to choose an adverb of
degree C £ (most) to emphasize on the pronoun {2 (he/him)
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but some candidates chose B & (down) which was an incorrect
response.

In item 4, some candidates opted for alternative C £ (most) in
the statement which expresses the distance from the E$1E
(library) to the {A&E instead of choosing a word & (away
from) as a correct answer.

In item 5, the candidates were supposed to be conversant with
the structure N+7#£+N+7 (direction). Some candidates failed
to choose the correct answer E X (opposite) and ended up

choosing C & (most) which was incorrect. This proves that

these candidates did not understand the meaning of the
sentence.

In item 6, the candidates were given a sentence talking about
beautiful scenery outside the window. They were supposed to

choose alternative D 4} (outside) which had to be attached to
the noun & (window) to form a complete word &4+ (outside

the window). Some of them opted E X E which was an

incorrect answer. Extract 10.3 is a sample of responses from a
candidate with weak performance.

I

Extract 10.3: A sample of the candidate’s incorrect
responses to question 10.

In Extract 10.3, the candidate failed to fill in the brackets with
the correct answer in all items.
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2.4.3 Question 11: Answering the Questions Using Chinese
Characters

The question comprised 5 items in which the candidates had to
answer by using Chinese characters. The question was set from
the topic of Introducing oneself and friends, School and Jobs.
The question aimed at testing the candidates’ ability to
introduce oneself, home town and describe someone is daily
schedule, jobs, work place and future occupation. The question
was as follows:

T =mEFEE, ARFPHE.
Lira: Ni jiao shénme mingzi?
B4 AR A4 B2
W jiao Xidoming.

é&q UL' s H}] o
Ni jia zai nar?

1. MRELEARIL?

Ni y6u ji ge hido péngyou?
2. ARAILAHT IAR?

Ni méitian jidian qichuang ?

3.7 AR HFXR JLE A2 R ?

Ni zui xihuan shang shénme ké?

4. M RERE R E 2 R?
-

NI xidng zuo shénme gongzud ?

5. 4k 1 K H 4 T A4E?

A total of 309 (100%) candidates attempted the question, out of
whom 160 (51.8%) candidates scored from 6 to 10 marks,
which is a good performance, 73 (23.6%) candidates scored
from 3 to 5.5 marks which is an average performance and 75
(24.6%) candidates scored from 0 to 2.5 marks which is a weak
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performance. The candidates’ general performance in this
question was good, since 233 (75.4%) candidates scored 30%
or above. Figure 11 summarizes the candidates’ performance in
question 11.

Scores
mo-2.5
3 -5.5

ms- 10

Figure 11: The Percentages of the Candidates’ Performance in
Question 11

The data analysis shows that 160 (51.8%) candidates had a
good performance as they scored from 6 to 10 marks. They had
sufficient knowledge on Chinese language grammar as well as
its sentence structure. They understood the requirement of the
question and responded to it correctly. For example, in item 1,

the candidates were asked fRZE ZE M JL ?» (Where is your
home?). The candidates who scored full mark mastered the
structure S+#£+0 (place name) and helped them to write the
correct answer.

In the item 2, the candidates were asked {REJLNIFAEK ?

(How many best friends do you have?) and they were required
to mention the number of best friends they have. The
candidates in this category had sufficient knowledge of
Chinese language structure as well as the use of the

interrogative pronoun JL (how many).
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In item 3, the candidates were required to answer the question
which was fREXJLE#EK (At what time do you wake up

every day?). The candidates who responded to the question
correctly knew how to tell time in Chinese. They also managed

to identify the word JL when that is used to ask about time.
Also they mastered the Chinese numbers correctly.

In item 4, the candidates were asked {RE=W F{+ 418 ?

(Which subjects do you like most?). Those who responded
correctly understood the question and knew how to write the

subject # (1) in Chinese character.

In item 5, the candidates were asked fRABf#+4 T4 ? (What

type of job do you want to do?). Those who scored full mark
were familiar with the way of answering the questions using

the interrogative pronoun {+4. (what). Extract 11.1 is sample
of correct responses from a candidte with good performance.

+-.]1: #}._’%—Za‘i MWANZA o
8 R =A% FRE,
B BRIEXEZF E R,

s: 3 R X T R TR,

Extract 11.1: A sample of the candidate’s correct
responses to question 11.

In Extract 11.1, the candidate answered all questions correctly
in all items correctly.

Moreover, the data analysis reveals that 73 (23.6%) candidates
performed averagely as they scored from 3 to 5.5 marks. These
candidates answered correctly questions in some items but
failed in others. These candidates had insufficient knowledge of
Chinese language structure as they failed to answer some
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questions. For example, in item 2, some candidates wrote
wrong responses because they either did not understand the
meaning of the question or did not know how to answer the

question. The candidates were asked fREJLIIFARKR ? (How
many best friends do you have?) and responded F:&#&JL14F

BA& (I don’t have several best friends). This implies these
candidates did not master the uses of the interrogative particle
JL (how many).

In item 4, the candidates were asked fREREW 1+ 418 ?

(Which subject do you like to attend mostly?). The candidates
managed to answer the question but they forgot the characters

of the subjects. Some of them responded FEMW EFE AR (I
like to attend Chinese person class) and others wrote F&ZEW
£ % (I like to attend book class).

In item 5, the candidates were asked #RA8{#H 42 T4 ? (What

type of job do you want to do?) but they failed due to
insufficient knowledge of writing Chinese characters. Some
candidates did not understand the question hence they
responded anyhow. For example, some candidates in thia

category wrote S %E T4 (I want to do vehicle job)
instead of writing EAE#E#HL T4 (I want to be a driver). This
implies that they failed to distinguish between the word &4l

(driver) and ;5% (car). Extract 11.2 is a sample of responses

to question 11 from a candidate who performed averagely in
this question.
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O, wd =l W buan  storg W xue W
A 8 §5 gk - &% i%- .
S [=] <

05 . wo de'vg aud 4 olE  ghg 2D,

4 AN A%k YH T &
Extract 11.2: A sample of responses from a candidate with an
average performance in question 11.

In Extract 11.2, a candidate wrote correct answers in items 1
and 4 but failed in items 2, 3 and 5.

Furthermore, the data analysis indicates that 75 (24.6%)
candidates had a weak performance as they scored from 0 to 2
marks. Some candidates scored 0 because they did not
understand the requirement of the question while others did not
understand the meaning of the question. This was due to their
insufficient knowledge of Chinese language sentence structure,
grammar as well as vocabulary. This made them to write words
which were not related with the questions. On the other hand,
others candidates copied some sentences from the question
paper and treated them as answers. Some candidates left the
question unanswered. For example, in item 1, the candidates

were asked YRRTEHIJIL ? (Where is your home) and they were
required to use the structure S+7£+0 (noun of place) to answer
this question. Some candidates wrote I R E B E E I A
thereby confusing nationality 382&fEill A (Tanzanian) with the

country B E\I (Tanzania).

In item 2, the candidates were asked {REJLNIFARKR ? (How
many best friends do you have?) but some of them wrote such
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an incorrect answer as 2 #t5% £ AZAZ (In a public bus are

there many people or not), which they copied from matching
item section.

In item 3, the candidates were required to answer the question
fREXRJLAFRER (at what time do you get up every day?). The

candidates who responded incorrectly in this question did not
know the meaning of the sentence as well as the way of telling

time in the Chinese language. Some candidates wrote {RA4¥AA
& (you not good friend) which was incorrect and did not

conform to the requirement of the question. Other some
candidates copied sentences from the question paper {RAR &%

HEITI (Your friend never went to Guanzhou).

In item 4, the candidates were asked fREREW 1+ 418 ?

(Which subject do you like to attend mostly?) and they were
required to mention the subjects they like to attend mostly, but

some of them wrote FHJmEW EFEIR (I like to study China
lesson). This was wrong because & is a Country and not a
subject. Thus the candidates did not understand what they were
asked.

In item 5, some candidates did not understand the question due
to the partial knowledge of Chinese language vocabulary. They
were asked {RFEf#t 2 T4E (what type of job do you want to
do?) but some candidates wrote #hEkEEA R (is subway fast
or not) while others wrote T /F (1 want to do a work).

Extract 11.3 is a sample of responses to question 11 from a
candidate who performed weakly in this question.
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LR RS REE ASHTS
ALITER P R v

3 A%k 18 Tk T fh

I E Y Y K I
5 vt BB e TR

Extract 11.3: A sample of the candidate’s incorrect responses
to question 11.

In Extract 11.3, the candidate wrote incorrect answers in all
items.

SECTION E: COMPOSITION

This section comprised two questions; question 12 and 13. In question
12, the candidates were given 5 jumbled sentences and were required
to rearrange them into a meaningful paragraph. In question 13, the
candidates were given a title “My best friend”” and they were required
to write a composition ranging from 60 to 80 words by using the
Chinese characters. Each question carried 10 marks, making a total of
20 marks.

2.5.1 Question 12: Re-arranging the Jumbled Sentences to Make
a Meaningful Paragraph

In this question, the candidates were required to re-arrange the
sentences correctly into a meaningful paragraph by writing the
corresponding letters. The question was set from the topic of
Introducing Oneself and Friends. It tested the candidates’
ability to organize ideas logically in the Chinese language. The
question was as follows.
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T ATEGTENHS, AREL, LF—9BLH,

W3 de hiio péngyou Lisha shi Tin sang nf yi rén.

A B8 A MTR 2 FRE A,
K& shi td xia ge xingq jiliydo huf Tin sang ni ya le.

B TRARTANEZMAE B £ RET.
W jido Li Yud , wo shi Zhdnggué rén.

C &= FA, £R +H A,
Yin wéi t3 de han yii shud de hén hio.

D BA HEYIE Hey R4
Huén ying t3 zai dao Zhongguo 14i.

E % &% #% 3 0 %,

Sudyl ta dao Béijing 141 shing xué.

F BTl %] e £ £ &,

A total of 309 (100%) candidates attempted the question, out of
whom 40 (12.9%) candidates scored from 7 to 10 marks, which
is a good performance, 144 (46.6%) candidates scored from 4
to 6 marks which is an average performance and 125 (40.5%)
candidates scored from 0 to 2 marks which is a weak
performance. The candidates’ general performance in this
question was average, since 184 (59.5%) candidates scored
30% or above. Figure 5 summarizes the candidates’
performance in question 12.
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Figure 12: The Percentages of the Candidates’ Performance in
Question 12

The data analysis shows that 144 (46.6%) candidates
performed averagely as they scored from 4 to 6 marks. These
candidates were able to re-arrange sentences in some items but
failed in others. The candidates had partial knowledge of
Chinese sentence structure and the meaning of the vocabulary.
For example, most of them scored full mark in items 2 and 6
but failed in other items. Most of the candidates confused
alternative D with F because they did not master the grammar

of EN...FTLL. Extract 12.1 is a sample of responses from a
candidate who performed averagely in question 12.

=i

Extract 12.1: A sample of the candidate’s responses from a
candidate with average performance in
question 12.
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In Extract 12.1, the candidate re-arranged correctly the jumbled
sentences in items 2 and 3 but failed in items 4, 5 and 6.

Furthermore, the data analysis shows that 125 (40.5%)
candidates had a weak performance as they scored from 0 to 2
marks. These candidates failed to re-arrange correctly
sentences in all items because they did not understand the
meaning of the sentences.

The reasons behind the candidates’ failure is their insufficient
knowledge of Chinese grammar and the given vocabulary. For
example, the candidates were required to identify the structure

EA......ATEL which could help them to link the correct sentence
by combining D and F. They also failed to identify the words
Al (but) and X3 (welcome) which could help them to link

sentences B and E to conclude the passage. Extract 12.2 is a
sample of the candidate’s incorrect responses to question 12.

=i A
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3
iE

5D

Extract 12.2: A sample of the candidate’s incorrect
responses to question 12.

In Extract 12.2, the candidate failed to re-arrange all the
jumbled sentences.

The data analysis indicates that 40 (12.9%) candidates
performed well as they scored from 8 to 10 marks. These
candidates were able to re-arrange the sentences correctly to
make a meaningful paragraph. They organized ideas logically
and they had sufficient knowledge of Chinese sentence
structure as well as grammatical pattern Extract 12.2 is a
sample of the candidate’s correct responses to question 12.
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Extract 12.2: A sample of the candidate’s correct
responses to question 12.

In Extract 12.2, the candidate re-arranged all the jumbled
sentences by writing correct letters of the corresponding
numbers.

Question 13: Writing Composition

This question had a title written FH#I3FAE&R (My best friend)

which was set from the topic of Introducing Oneself and
Friends. The question aimed to examine the candidates’ ability
to introduce themselves, their hometown and provide other
basic information. The question was as follows.

T = AR LERE — 60 3| 80 FHyHE L,

Huiti: W& de hio péngyou

wA & B A

A total of 309 (100%) candidates attempted the question, out of
whom 47 (15.2%) candidates scored from 6 to 10 marks, which
is a good performance, 112 (36.2%) candidates scored from 3
to 5.5 marks which is an average performance and 150 (48.5%)
candidates scored from 0 to 2.5 marks which is a weak
performance. The candidates’ general performance in this
question was average, since 159 (51.5%) candidates scored
30% or above. Figure 13 summarizes the candidates’
performance in question 13.
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Figure 13: The Percentages of the Candidates’ Performance in
Question 13

A total of 150 (48.5%) candidates scored from 3 to 5.5 marks
which is regarded as average performance. The candidates
were able to write a composition correctly but failed to
organize their ideas logically. Other candidates performed
averagely because they had partial knowledge of Chinese
characters and sentence structures which hindered them from
obtaining full marks. Some candidates copied sentences from
the question paper and treated them as answers.

On the other hand, the data analysis shows that 47 (15.2%)
candidates had a weak performance as they scored from 0 to
2.5 marks. These candidates did not understand the
requirement of the question. Some candidates were unable to
write a composition as they decided to copy some words and
sentences from the passage in question paper. Few of them
responded by wusing pinyin whereas others wrote
incomprehensible  sentences. Others left the question
unanswered. Extract 13.1 is a sample of the candidate’s
incorrect responses to question 13.
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Extract 13.1: A sample of the candidate’s incorrect
responses to question 13.

In Extract 13.1, the candidate wrote a composition by using
pinyin some of them were wrongly marked.

The data analysis shows that 47 (15.2%) candidates had good
performance, as they scored from 6 to 10 marks. These
candidates were able to write the compositions by using
Chinese characters. They had adequate knowledge of Chinese
vocabulary which helped them to write their compositions by
using Chinese characters and grammatical sentences. However,
they failed to score full marks because they committed few
errors in writing Chinese characters. Extract 13.2 is a sample of
the candidate’s correct responses to question 13.
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Extract 13.2: A sample of the candidate’s correct responses to
question 13.

Extract 13.3, indicates the performance of the candidate who
managed to write a good composition.

PERFORMANCE OF THE CANDIDATES IN EACH TOPIC

The Chinese Language examination had 13 questions which were based on
the topics of Comprehension, Vocabulary Use, Grammar Use, Language
Use and Composition.

The data analysis indicates that the candidates had good and average
performance. The good performance was in the topics of Grammar Use
(81.7%), Comprehension (81.6%), Vocabulary Use (80.1%) and Language
Use (80.0%). The good performance was attributed by the candidates’
ability to understand the requirements of the questions and their sufficient
knowledge and skills on the topics tested. On the other hand, the topic of
Composition (46.8%) had an average performance which was attributed to
the candidates’ partial knowledge of the Chinese grammar.

Furthermore, the analysis shows that in 2022, the candidates’ performance
on candidates per each topic was good and average. The 2022 performance
is good compared to that of the year 2021. The increased in performance in
each topic is as follows: Language Use 17.3% Grammar Use increased by
10.9%, Vocabulary Use increased by 9.5%, Composition 4.5% and
Comprehension increased by 1.1%.
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The general performance of the topics in 2022 is good, since 95.8 percent
of the candidates scored 30% or above. The analysis of the candidates’
performance in each topic is summarised in Appendices | and I1.

CONCLUSION

The candidates’ performance in the Chinese Language subject in CSEE
2022 was good, since 296 (95.8%) candidates passed the examination and
only 13 (4.2%) candidates failed.

The analysis reveals that the candidates who had good performance in this
examination had sufficient knowledge of the Chinese Language grammar.
Despite the good performance, some candidates had average performance
while others had weak performance. These candidates had insufficient
knowledge on the topics from which the examination questions were set.

RECOMMENDATIONS

In order to improve the candidates’ performance in the Chinese Language
subject, it is recommended that:

(@) Teachers should guide student on how to write logical paragraphs or
compositions by giving them pictures, cards and simple titles.

(b) Teachers should encourage students to read simple texts related to
the topics in order to improve their vocabulary and grammar patterns.

(c) Teachers should guide the candidates on how to write pinyin by
applying features such as tones, initials, finals and syllable formation.
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APPENDIX 1

Summary of the Candidates’ Performance per Topic for the Chinese Language
Subject in CSEE 2022

Composition

12

% of Candidates
who Scored an

42.4

13

51.2

% of Candidates
who Scored an

46.8

SIN Topic NuQr:t.)er Average of 30 Average of 30 Remarks
Percent or Above | Percent or Above
in each Question in each Topic

Average
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APPENDIX 11

Comparison Summary of the Candidates’ Performance per Topic for 2021 and 2022

2022
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2021
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N/S

Average

2 | 46.8

Composition

Good

2423

Composition
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